K0638_B
LR0l= 2ejold = BEIY

= 8Y/HMIZ olo|x]

==
=

© HEINRICH KIPP WERK GmbH & Co. KG

THE!:
22 0| 3.2163.

A2 ORI HZ EEQ xRS TAFHII BLE
&= LIAF DIN 912 /1SO 47621t &1 A2 75

www.kipp.com - info@kipp.com 1/3



Kinn

LR0l= 2ejold = BEIY

= 8Y/HMIZ olo|x]

o

=
| ~ |
|—'—|—' '
] 1 4 ﬂ
i = =
- T 5 ¢
- | 1] %
| || Y. Y
Ai-0,2
=} [
b} L e
| *
_ S | N ™
Ql Q| @
- !
E=S %
FEHS El2J D1 D2 D3 A B H H1 L T
K0638.406 B M6 45 8 20 10 21 10 30 45
K0638.4061 B M6x0,75 45 8 20 10 21 10 30 45
K0638.408 B M8 4,5 8 20 10 21 10 30 4,5
K0638.4081 B M8x1 45 8 20 10 21 10 30 4,5
K0638.410 B M10 55 10 24 12 26 13 36 55
K0638.4101 B M10x1 55 10 24 12 26 13 36 55
K0638.412 B M12 55 10 24 12 26 13 36 55

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



K0638_B

LR0l= 2ejold = BEIY

== g9

TEHS Ef D1 D2 D3 A B H H1 L T
K0638.4121 B M12x1,5 55 10 24 12 26 13 36 5,5
K0638.416 B M16 55 10 32 15 29 17 46 55
K0638.4161 B M16x1,5 55 10 32 15 29 17 46 55
K0638.420 B M20 55 10 32 15 29 17 46 5,5
K0638.4201 B M20x1,5 55 10 32 15 29 17 46 55

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



